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fiJ Atl the four questions nre compulsory.

" fifJ All guestions ccrry equsl urefghtoge.

l. Answer the folloruing question in about 600 words.

Mention the stages of child development and discuss in

brief various aspects of child development.

OR

Describe the needs of primary school children and discuss

the factors affecting their needs.
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2' Answer the following question in about 600 words.

Explain the meaninq of social, emotional and moral
development. Discuss the pattern of emotional
development during earry chirdhood.

OR

What do you understand by the term 'PLAY' 
? Discuss

the role of play in promoting socio-emotional development.

Answer any four of the following in about 150 words
each :

(i) Describe the basics of piaget's theory.

(ii) Describe the meaning of multilingualism and in what
way mother tongue interferes with the learning of new
language.

(iii) How does the ,Cisadvantaged home environment affect
the child's learning ? Discuss.

(iv) what do you mean by integrated personarity
development ? Suggest some activities which facilitate
social development.

(v) 
::.:ffi"ff 

tvpes of psvchorogicar needs ? Describe

4 - Answer the following question in about 600 words.

While in school, you might have observed children trying
to seek attention. Based on your experience write a report
highlighting their psychological needs especially nurturance
and affection.
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z. ffi TFT 6t 3f,{ f,rlt1{ 600 Y1-fr fr ffsTq I

qtqTRH, Ti+{f.t{EF sfr{ +fr6 trm-rs il 3Td Hs
qiffiq I qgtiffi qrtrTTErcslT + d{I4 {AqT-qs trqp'
+ ta{ HT fra=-{ u'ifrq I

sTstEtT

sTN 'dH' qE fr 11 HqflA t ? Bl-qrfts-1+}T|Teqffi
rqsrq q)i wrl fr dH q;i TtrnT 6T r{+-d{ cfqq I

3. ffi fr fr ffi arT qT sfl wttFl 150 {t€}
Hd-s fr ffqq :
(i) FHIS + ffifrid 4i sTrqRF qrdi qT E"iq difqq l

Hffi_HTffi*ffi.f,
(iii) grqqrrfrqn Td .rqiqrot q-.i * sTfBrrrq qi +t

Htlffi q-{nT t ? Eaqq diFq I

(iv) {qrfiftdqfu'H FqTq fr sTltffit wt sTftlqrq i ?
qF" t$ ffi gflEq q] nrqrfqm Fnq +1 En{
; r a t r

(v) f f i f f i+rhnqt{frt  ? sqfr
t ffi qd qI E't4 qiffiq I

4. ffi TtrI HI 3fl{ wItFT 600 I1Q fr {fdq I

trilrnq + d{I4 g{Tq+ qd iq"T fdqr Arr fs FA
rqn sTrfiffin qTi qI ytlrs .F{t t | 3nq} 3{-{tr +
oTTTTR tr{ s{m1 qfrffi{d ffi trfiqq{
qlqnTe 3+{ dE qi q{ }mwr grf,A gq
qd frqtJ ftnsq I
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